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Time allowed for the test: 50 minutes
HIBZEFRE - 50 o35

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

ok~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.
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1. The monthly sales of a supermarket
is three million and five hundred
thousand when corrected to the
nearest hundred thousand. Which
of the following could be the actual

monthly sales of the supermarket?

A. $3 446 000
B. $3 528 000
C. $3 553 000
D. $35 356 000

A. $3 446 000
B. $3 528 000
C. $3 553 000
D. $35 356 000

2. Each box can hold 16 books at
most. Mr Chen has 202 books.
How many boxes does he need at
least in order to hold all the books?

A. 12
B. 13
C. 14
D. 15

2. ARHIE LT IQAL6AZ o
43 20242F BT EMS
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A. 12
B. 13
C. 14
D. 15




Planting Plan
A 31

Daily amount of tree planting per person
& A& X e R
12

Total number of planting days
ERE RS
5

3.

There are 27 employees in a farm.
If all employees plant trees
according to the above plan, how

many trees do they plant in total?

3. 3 R # 27

LRI o4k 2INR
RS RF7 SR VE S i AR S
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A. 60 A. 60
B. 324 B. 324
C. 810 C. 810
D. 1620 D. 1620
4. A school will distribute 2 oranges 4, F e m 284 g 2B #

to each student. There are 157
students in the queue but the school
has only prepared 300 oranges.
How many more oranges does the

school need?

A7
B. 14
C.24
D. 143

TR IST LE S PG
R REEE T 300 BRI -8
REZEHT 50 B2

A7
B. 14
C.24
D. 143




5. What is the result of adding up all
the factors of 35?

A. 48
B. 47
C. 13
D. 12

5. s 35 erfrd FHcAp 4e e & E

LN
//
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A. 48

B. 47

C. 13

D. 12
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6. The following figures are three

squares of the same size.

6. T FlE= B Al enn A .

If each stands for 1,

what is the value of the sum of the

shaded parts?
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7. Find the H.C.F. of 32 and 192. 7. £324¢ 192 7 H.CF. -

A. 32 A. 32
B. 16 B. 16
C.8 C.8
D. 4 D. 4
- , 3
8. Mary bought a bag of flour with 8. v 1 - K& 35k T o
3 7 7 1 o
3?kg. After she used gkg and ot gkg fe ljkg 4 H@iTgme
1
IZkg to make bread and dumplings, Fobkr+ (2 > BT F 509

how much flour was left?

29 29
A.24Okg A.24Okg
7 7

C Zlk C ZLk
2gke - 2gke
19 19
D. 1 20 kg D. 1 40 kg




9. There are 120 balloons in each bag,
8
15 of the balloons are blue. How
many balloons are blue in total if

there are 18 bags?

A. 2160
B. 1152
C. 64
D. 56

e e A 8 .
9"49‘27?51{4}3 lzolﬁ’ﬂi‘l?{ﬁ

§ o4k MG I8 WFH LT E

SRS X

A.2160
B. 1152
C. 64
D. 56

10. There are 42%kg of mung beans. If

1
every 27kg of mung beans are
packed into a bag, how many bags
of mung beans can be filled up at

most?

A 17
B.19
C.21
D. 23

5 1
10. R 42§kg BE o Ark 27kg

e s - Kok ivEnd

g9

A 17
B. 19
C.21
D. 23




11. Arrange the following three numbers | 11. 3 /™2 F = B #cd | T < £7] ¢

from the smallest to the largest:

9 9
662%, 6 6.64 662% ~ 67

14 14~ 6-64
9 9

A. 662% < 6.64 < 6H A. 662% < 6.64 < 6?

9 9
B. 662% < 6? < 6.64 B. 662% < 6? < 6.64
9 9

C. 6? <662% < 6.64 C. 6? < 662% < 6.64
9 9

D. 6.64 < 662% < 6? D. 6.64 < 662% < 6?

12. There are 180 peach trees in an 12. % % Fl5 180 $+ept> H ¢ 25%
orchard and 25% of them are B o ok 40%E TSR
non-flowering trees. If 40% of the ENEF O RFDER AT
flowering peach trees bear fruit, Lk ?

how many flowering peach trees bear

fruit?
A. 18 A. 18
B. 27 B. 27
C.54 C.54
D. 81 D. 81




4L

13. In the above figure, how much

water 1s there in the container?

A.2.1L A.2.1L
B. 2.5L B. 2.5L
C.3.7L C.3.7L
D. 5L D. 5L
A&m A&m 6cmh 6cmh
4em 4em gem 8cm

14. Which of the following figures can
be formed by using four right-angled
triangles as shown in the above

figure?
I. rectangle
II. triangle
II. parallelogram
A.Tand II only
B. I and III only
C. II and III only

D. I, IT and III

14. * = B3 &= £75 4ot B9
o F A T R {457
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15. Which of the following descriptions

about quadrilaterals is correct?
I. There are four axes of
symmetry in a rectangle.

II. The four sides of a rhombus

are equal in length.

II1. There are two pairs of parallel

opposite sides in a square.

15.

T AU e 8 ek it D

FEef?

L £ 35F w4l

. ¥72)r & At %

A.Tand II only A r3 121
B. I and III only B. 73 12 1II
C. II and II1I only C. r3 1IIz21II
D. I, II and 111 D. I~1I % III
Area E
E%
X Area F
F%
X X
Area | Area G
% G %
X
X X
Area K Area H
K ¥ H %

16. In the above figure, Area Gisinthe |16. %t Bl > G % &+ H % g A = >
northwest of Area H. Which Area K %> 9B E ?
is in the north of Area K?

A.Area E A E %

B. Area F B.F &

C.Area H C.H®

D. Areal D.I%
BATAEAH B 5 (1 6) 10
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17. In the above figure, when the car 17. 2B $ 73 7RI LT
arrives at the junction, it will turn 2= g = ro Bl RN A
left and go ahead. In which direction Tt oR- 3 FH 7
will the car go ahead when it turns
left?

A. north A #
B. northwest B. & #
C. south C. =
D. southeast D. 4=

A

14cm
v
b 18cm g

18. The circles inside the rectangle
are of the same size. What is the

radius of each circle?

A. 9cm
B. 7cm
C.4.5cm

D.3.5cm

18. £ = A5 0 [l e+

L
=%

Sgp e -

/J\
TR R

A. 9cm
B. 7cm
C.4.5cm

D. 3.5cm




14cm

19. The above figure is formed by a 19. t@Bld - BF3A - Bw -
square, a quarter circle and a Flir— B X Flex 6§20
semi-circle. What is the perimeter R 500G %)

22
of the figure? (Take 7 as N

A.75cm A.75cm
B. 86cm B. 86cm
C. 96cm C. 96cm
D. 130cm D. 130cm
4em
4em

20. In the above figure, what is the area | 20. F B ? > R34 hm fF 427
of the shaded part? 59

A. 224cm? A. 224cm?
B. 192cm? B. 192cm?
C. 14cm? C. 14cm?
D. 12cm? D. 12cm?

B ATEIH 5 () 6) 12



Sm Garden oM sm

21. A rectangular garden is in a lawn of
length 25m and width 15m, as
shown above. There are 14 tulips per
square metre in the garden. How
many tulips are there in the garden

n total?

A. 5250
B. 3150
C. 2310
D. 2100

21. - & 25m> B ISmenie P 5
- BE AR > Aot BT o T
FlFT= 473 4REE4 0 ©°F
RETHER S S H?

A. 5250
B. 3150
C. 2310
D. 2100

22. According to the above figures, what

1s the volume of a cylinder?

A. 40cm’
B. 30cm’
C. 10cm’®

D. 5cm’?

L - L@ggfu

20mL 130mL

22. 1395 B0 - B RO AL
59
A. 40cm’
B. 30cm’
C. 10cm®

D. 5cm?

13



23. The above solid is formed by cubes |23, ™ = #8d % B:F £ Scm e =
with side 5cm. What is the volume e o Z2MaolFpILs o
of the solid?

A. 750cm’ A. 750cm’
B. 875cm’ B. 875cm’
C. 1000cm’ C. 1000cm®
D. 1125cm? D. 1125cm?

o Y 12cm
8cm
15cm
24. When 10 steel balls of the same 24. 4= 10 FREAF A0 6 c0dh TR AR 40P

volume are taken out from the tank, B ok i=TT R R 2em 0 FoRAR TR
the water level drops to 2cm. What A S S 9
1s the volume of each steel ball?

A. 36cm’ A. 36cm’

B. 60cm’ B. 60cm’

C. 240cm’ C. 240cm’

D. 360cm’ D. 360cm’

BATALIH 5 (] 6) 14



25. Mr Lee drove from home to aresort | 25. Z £ 4 & & jE g > G 2w

through service station, the total AR BA R R A2 E 95km o ¥ B
distance is 95km. In the first 25 2 72km/h g F A E T 25 A

minutes, he drove at an average speed 48 o £ 7% Skm s > FlE Wk o

of 72km/h. Then, he drove for PLPEDL FERLR BB iR ?

another Skm and reached the service

station. How far was he from the

resort?
A. 30km A. 30km
B. 40km B. 40km
C. 55km C. 55km
D. 60km D. 60km
[ 75 4 ] [ 85 09 ]
Start Time Finish Time
B 4 R 2
26. The above clock recorded the time 26. F Blenprdaiesrt & LB B
that Leo used in riding a bike for 2880m 7 #* cHpE R o s -l 32
2880m. What was his average speed? FHEFH9
A.3.2m/s A.3.2m/s
B. 5.33m/s B. 5.33m/s
C. 19.2km/h C. 19.2km/h
D. 30km/h D. 30km/h

BATREA N B X (] 6) 15



Number of Births in City F in the Past Ten Years
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27. According to the above graph, how
many year(s) is/are the number of
births lower than the average number
of births in City F in the past ten

years?

A7
B.5
C.3

D.2

2012 2013 2014 2015 2016 2017 2018 2019 2020 2021
Year

4 S
EREN

27. R IHFH F 50

A.7
B.5
C.3
D.2
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Sales of Computers in a Store in the Past Six Days
S EER TR

Each stands for 1 computer
=B Y= &1

Sunday
Monday
_gt ﬁF - = = = = =
Tuesday
Zot 5 Hp = = = = = T =
A
Wednesday
5 H = = = = =
Thursday
5 Hp o = = = = = p= p= p= = =
Friday
) I = = = — = - = = ~—

28. If each computer cost $5500, how 28. dr&kEF 5T % 885500 0 3% k2
much could the store get from the I R R = £V I A
sales of computers in the past six
days?

A. $16500 A. $16500
B. $33000 B. $33000
C. $187 000 C. $187 000
D. $231 000 D. $231 000

BATILAH E X (] 6) 17



Admission Tickets Sold for a Gallery Yesterday
Y BT

70

60
a 50
. 40
F‘ iy
® 5
5 =
2% 20
z
Z 10

0 . )
Senior Citizen  Adult Student Child Type
E X & A g2 i ek
29. What was the percentage of all the 29. pFx & D enk ;FL‘Z PRI E
tickets sold was for senior citizens S A2 B9
yesterday?

A.17.5% A.17.5%
B. 20% B. 20%
C.27.5% C.27.5%
D. 35% D. 35%

30. If 2m+1.6m = 16.2, what is the value | 30. 4% 2m+1.6m=16.2 > 7% -

of m—1.25? m—125 5B E 559
A.2 A.2
B. 3.25 B. 3.25
C.4.5 C.4.5
D.6 D. 6

End of Section A

B2

BATHAIH B 5 (] 6) 18



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

z I (40 ~)
Rt B B AR AERE S
;IJ::'"“:;‘L'%: ﬁ:% °

31. The following table shows the weight | 31. & % 7| = M 3 &k ahE & o

of three brands of flour.

Brand

9+

Weight (Each Pack)

£E(5¢)

M

2.4kg

N

19
g kg

3
25kg

(a) During the cooking competition,
the five participants used 4 packs
of Brand M flour in total.

How many grams of flour did
each participant use on average?

(Give the answer only) [2 marks]

(b) According to the above table,
which brand of flour has the
largest weight? Explain by using
the conversion between decimals

and fractions. [4 marks]

(b) 1395+ % > BB | #os feeh
3 R A%

Fp R E - [4 4]

19



32. Shop A had 365kg of oil while
Shop B had 384kg of oil.

(a) Shop A used n kg of oil each day.
How much was left after 15 days?
(Give the answer only and

express the answer in terms of 7)
[2 marks]

(b) Shop B used all the oil in 17 days.
During the first 16 days, Shop B
used m kg of oil each day. On the
last day, only 16kg of oil was
left. How much oil did Shop B
use on each of the first 16 days?
(Use equation to solve the
problem and show working steps)

[4 marks]

32. A 7 365kg @ B 7 384kg

e

(@) A B T35 2% 3 nkgw o
15 %% > AREaW 559
(FRABMERT U n AT ¥

) [2 ~]

h

(b) B & 17 % % & 2305 o
tF 16 % > B T i0F =
4 mkge dkfs- % 0 ¥
F17 16kg > B b e 16 =
TiaE X v L 50 QR

S EFEEINH B [44]

BATALAH 5 (] 6) 20



33.

3ch

15cm

(a) The above figure is made from
ten rectangles of the same size
and same shape. What is the
perimeter of each rectangle?
(Give the answer only) [2 marks]

(b) What is the area of the whole
figure? [4 marks]

33.(a) * Bld LB ok b

GE S A A o & B E A

/
GRS O(R AR D E
%) [2 4~ ]

(b) BB fFAF 07

[4 7~ ]

21



Happy Flower Shop
BrEn

- |
ey

34. (a) The Happy Flower Shop sold the

|

above vase for 85% of its original

price. The additional packing fee
was $25. How much should a
customer pay for purchasing a
vase with packing fee in total?

[4 marks]

(b) The Fragrant Flower Shop sold
the above vase for 90% of its
original price and no additional
fee was needed for packing. In
which flower shop did Mr Lau
buy the vase with packing
cheaper? Explain by using data.

[4 marks]

(¢) The original price of a bunch of

flowers was $125. Mr Lau bought

this bunch of flowers at a special

offer of $85.5, how much did

he save? (Give the answer only)
[2 marks]

Fragrant Flower Shop
ShIR

|
2
g/

34.(a) EIRFTE MR 85%E
v TERY s F e B$25 & %

|

PooREEMY - BiARip e X
PR SY [4 4]

(b) =4 =7k R h90% &
L feEg s @ KR T fhy o
FlA2 avi- B ME 2
S e R = T
- [4 ]

2
g

(©) - kTR E$125 FlE 2
11$85.5 i A LR 0 i 4

a5 (AR

FF) [2 7~ ]
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Sales of Lemon Tea in a Drink Shop

7
~ Sweetened
= fepE e
/a 6
= ~ Unsweetened
o [ F e 7]'%‘57’”
b= 5
g -
ég A - —
=t F
Zw F
% 3
O u
4l [
o |
g 2F
a -
e
oE
35. (a) In which month did the drink shop BT g
sell the most lemon tea? How TRIFEA
many cups of lemon tea were sold T P(REBNER)
in total? (Give the answer only) [2 & ]
[2 marks]

(b) Each shop assistant can get a gift, (b) 4r&k & P RiFr a4 E£E 3
if the sales of lemon tea in a 10000 s + > & Z R B W
month was 10000 cups or above. EF- My & LR &
How many gifts did each shop VIS S
assistant get from April to July? FO(REBNEFER) [24]
(Give the answer only) [2 marks]

(c) From May to July, what was the () T "3 -7 » gRETHs
average monthly sales of lemon TREARER S S D
tea in the drink shop? [4 marks] [4 %]

B ATREA B & 5 (] 6) 23



36. There are 12 plastic balls in a box.

There are 12 plastic sticks in a box,
in which 8 of them are 10cm long

each and the rest are 5cm long each.

Plastic Balls ® @
L I

36. — £kt 1240 - £9ET 12

o ¥ 84t £ 10cm» H 4%

£ Scm

% IR I
E—

Plastic Sticks

% tr

(a) A box of plastic balls cost $3.5
and a box of plastic sticks cost
$9.6. Claudia bought 4 boxes of
plastic balls and 6 boxes of
plastic sticks, how much should
she pay in total? (Give the answer
only) [2 marks]

(b) Claudia uses a box of plastic balls
and two boxes of plastic sticks to
make a cube. On the answer
sheet, draw the net of that cube.
[2 marks]

(@) - £%RL$35 - gWE L
$9.6 - LEREE 4 £ W3R ir 6
£ WIEHES QD
(RABIER) [2 ~]

(b) %% - £9ica £ 9#%
BT - B3 %R
B F R S R AR

e (2~ ]

End of Test Paper
Pk S =2

B ATAEL)H 5 (] 6) 24



